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GAUGE TRANSFORMATIONS
* Although| A = (qb,ﬁ) specifies the electric and

magnetic fields in terms of A and p it does not do
s0 uniquely, because under a gauge transformation:

AA-VA; o p+5 ie Ao A 40,0

where A is an arbitrary scalar function, E, B remain
unchanged.

So, let us continue. So, what I was talking about just before the break was the concept of
Gauge Transformations. You see we replace the we introduce the four vector A A mu as a
(Refer Time: 00:38) representation of Maxwell’s equations. And, then we introduce the

concept of electromagnetic field tensor.

Now, the point is that the A vector or the A mu vector that we introduced is not uniquely
defined. In other words, if I transform A mu by the expression that is given in the green box

here my electromagnetic field tensor remains unchanged and therefore, my Maxwell equations



still continue to be satisfied. So, that gives us a certain amount of leeway or a freedom or
ambiguity in terms of the representation of the 4-vector A or the that we can use for the

purpose of representing the electric and magnetic fields, right.
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L —
LORENTZ GAUGE

* Substituting:

o |[F™ = (3#4Y - 0 AP)|in

. IOpF‘"’ = j"Me get

+ 0,(0"47 = 3"AF) = ¥ or
3,0" A" -a,0"AF ="
d,0" A" — 0% (9,A") = j*

So, now we however, we to arrive at a unique representation we therefore, need to impose
certain restrictions to impose certain gauge requirements. One of the gauge requirements that

we impose is the called the Lorentz gauge.

In the Lorentz gauge what we require is that the expression within brackets here within the
curly brackets here in the green box at the bottom of this slide in this should vanish. That is the

requirement of the Lorentz gauge.
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[
* We may now choose a gauge A in A* - A + 0 A
so that the transformed A, satisfies the Lorentz
auge condition:

= 0.
In this choice of gauge,

+|,0"4" - 8"(8,A") = J yields
*|0,0"A" =¥ or

|02 -Vip=p;0*A-VPA=]

+ Invacuum: d,0"A" = 0

Let us see what it implies. If we have this requirement which is here in the red box here what
we end up with is the expression that is in the green box at the bottom of the slide after simple
algebraic manipulations. And, for the vacuum we will have an expression of the form box of A

nu is equal to 0.
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GAUGE FIELD QUANTIZATION
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I
PROBLEMS WITH QUANTIZATION OF

GAUGE FIELDS
* The fundamental fields in nature are

* spinor fields (leptons and quarks) and

* gauge fields (electromagnetic, weak
and gluon fields).

o

Now, we talk about now the fundamental fields in nature are this spinor fields that are leptons

and quarks and gauge fields that we are talking about just now and also gluon fields.
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ISSUES IN QUANTIZING EM FIELD
* The EM field, like any massless field,

* possesses only two independent
components,

* but is covariantly described by a 4-vector
A

ul

But, in the case of electromagnetic field we have only two independent components in contrast
to four independent components which are required for a covariant representation in
4-dimensional space time for a single particle. So, that being the case we are faced in a
quandary which in some sense also makes us presents fields which also manifests itself in the

gauge freedom that we just talked about.
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* Thus, we have two options:
* Secenariol

* Choose two of these components as the physical
ones, and thence quantise them,

* we |lose manifest covariance.

* Scenario 2
* Treat two components as redundant
* |f we wish to keep covariance.

So, we really have two choices. We have the choice of choosing two of these components as
the physical components and then quantize those two components, but in this case we lose
Lorentz covariance. And, on the other hand, the other choice that we have is that we treat the

two components as redundant and we retain Lorentz covariance.
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RECALL: EM FIELD TENSOR

* The six components of the electromagnetic field

may be written as an antisymmetric tensor,
| Ho = grAY - a"A"|

* and the homogeneous Maxwell equations follow

identically if it is assumed that F*¥ is a 4-
dimensional curli.e,|F*¥ = g*AY — 9V A*

Let us do the first approach. So, to recall then the electromagnetic field tensor we are defined

in terms of the expression that is given in the red box here. And the 4-dimensional curl.
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I
* The Maxwell inhomogeneous eqs follow from:

10" ="

* Invacuum, the RHS disappears so that:
'[0=20,F"= 0‘,(6“‘4” - 3"AH)
= 04" - (9,4

And, as I mentioned the d mu of the or the derivative of the first 4-dimensional
electromagnetic field tensor is equal to the j nu, the components of the current. And, this
encompasses the inhomogeneous equations and the homogeneous equations are automatically

satisfied from the property of the electromagnetic field tensor being a 4-dimensional curl.

In vacuum what happens? Right hand side disappears and we have the expression which is

given in the green box at the bottom of your slide which we have already discussed.
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LORENTZ GAUGE

* For a given electromagnetic field, 4, is not
unique.
* The gauge transformation:

1 AIE - A'EE = AEE + GHA(x) I

* leaves F,, unchanged.

For the Lorentz gauge we write the Lorentz gauge in the form and the form given in the red

box here we have seen that this expression leaves the electromagnetic field tensor unchanged.
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O —
* We make use of this flexibility and choose A to
isfy:

oA = 0u6"A = —6#A*“ e obtain:

0,A" +9,0"A(x)
¢ =0,A" -0 A" =0

;IUPP;IIB uie p|;|m:, we obtain:

We impose the condition given in the red box here and what we end up with is the for the
Lorentz gauge if we impose this restriction that is given in the red box here, then on
simplification what we find is that the derivative of A dash mu that is the transformed A mu

takes the form which is given here in the blue box.

And if you simplify this using the expression in the red box here what we find is that the we
have d mu A dash mu is equal to 0. Now, if you drop the primes we get the expression for the
Lorentz gauge that we want to impose that is in d mu of A mu is equal to 0. So, this is the
Lorentz gauge or the Lorentz condition that we want to impose that we impose in our

analysis.
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* A vector potential satisfying this
condition is said to belong to the
Lorentz gauge.

* This one condition effectively reduces
the  number of independent
components of A, from four to three.

So, a vector potential satisfying this condition that is d mu of A mu is equal to 0 is said to
belong to the Lorentz gauge. This one condition, this one restriction reduces the number of

independent components from four to three, but we are still not unique.
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I
NON-UNIQUENESS IN LORENTZ GAUGE

* However, the Lorentz condition does not make 4,
unique.

* If A, satisfies the Lorentz condition, so will A'p as

lon
. |6H6”A(x) = Ol since

(0,47 =9, (A" + 9"A(x))
o[ = 0,4 +,0"A(x) = 9,47

Why we are still not unique is because if any scalar functions satisfies the requirement given in
the red box here, the box of eta x is equal to 0, then what we find is that what we find is that
the condition or the Lorentz condition is automatically satisfied. Therefore, this gives us

another there still as some non uniqueness remaining even after the imposition of the Lorentz

gauge.
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COULOMB GAUGE

* Then hy choosing A(x) to satisfy:

we have

1 P=Ag @ =Ag=Ay+dA(x)=p-¢=0
¢ 0=0,4" =9y - VA = dy¢' - VA = —VA'

. ‘ isfying this additional condition:
|p=0,VA=0

* are said to belong to the radiation (or Coulomb) gauge.

For this purpose we impose the Coulomb gauge to make the definition unique. How we do it?
We impose the following requirement which is given in the red box here the time derivative of
this scalar function is equal to minus phi and when we do that what we get is that phi goes to
phi dash and what we get for A A dash 0 is equal to 0. And, for A for the spatial part of A we
get minus delta del A that is the divergence of A 3 divergence of A is equal to 0.

In other words the Coulomb gauge is specified by the expression in the green box that is phi is
equal to 0 and the divergence of A the spatial A is equal to 0. These two together make the

Coulomb gauge that meansnote they are not relativistically covariant.
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* In this gauge there are clearly only two
independent components of 4.

* This is the case in the real world, so
working in the radiation gauge keeps the
physical nature of the electromagnetic
field‘'most evident.

So, we are now left with only two independent components of A mu. And this is the case of
the real world where we work, so, working in the Coulomb gauge or this is also called the

radiation gauge we retain the physical nature of the electromagnetic field.
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LAGRANGIAN OF MAXWELL EQS

* The Maxwell egs also follow from a variational
principle with the Lagrangian:

* where A, is regarded as the dynamic field.

Now, the Lagrangian of the Maxwell equation we shall be dealing with it when we talk about

the path integral is given by the expression in the red box here, but we will be coming back to

it.

L=

1
—ZF. FWw
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CANONICAL QUANTIZATION IN
COULOMB GAUGE
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CONJUGATE MOMENTUM

1
. £ - ;F#VF.[W

FH = (a*A" - 0" A*)
* We first define the conjugate momentum fields:

00k _

' _aA[,_O
i 0L ai aia0 _ i
== A +0'A" =E

The canonical quantization in the coulomb gauge we start with the Lagrangian this which is
given in the red box here from which by variational principle we can derive the Lagrangian

equations.

And, we define the conjugate momenta in terms of the expression that is given in the yellow
box and the expression in the green box the time component of the conjugate momenta

vanishes and this spatial component of the conjugate momenta represent the electric fields.
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QUANTIZATION COMMUTATORS

* We impose the commutation relations (' is
conjugateto 4; = —-A'):

4G, (¥8)] = - 4G 0, B ()

And there therefore, the quantization commutator that we desire or we attempt or we
postulate is given by the expression here in this slide which is self explanatory. So, let us carry

on.

Although there is a small problem here in the sense, that here the indices if you look at the
second commutator the indices are upstairs whereas, 1 and j indices are upstairs whereas, on

the right hand side of the equation the 1 and j indices are downstairs.
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* (This equation is, from a strict tensorial
point of view, incorrect, since the RHS has
downstairs indices, and features §;; instead
of g;j, which of course differ in sign for i,|

— 1, 2, 3. Numerically, however, the
equation is correct.)

And, secondly, the appearance of data idea instead of the flat metric eta ij or gij has also make

certain relativistically incorrect, but numerically of course, it turns out to be correct.
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+ The condition{ [4;(%,t), / 2t)| =

- |G 0B (¥ t)| =66 (3 -7

* is inconsistent with the Coulomb gauge

condition V.4 = 0, since taking the divergence
of both sides gives:

[v AG 0, B (E' t)] - idis® (z - ?) £0

However, when we look at this these commutators in the context of the Coulomb gauge we
find that they are inconsistent with the Coulomb gauge because if I take divergence of both
sides divergence of delta A is equal to 0 divergence of the spatial A is equal to 0 as you will
recall in the case of a column gauge. So, if I take divergence of both sides what I get is that

the commutator is unequal to 0 which is not compatible with the Coulomb gauge.
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* The above commutators must, therefore, be
modified.

* We replace d;; by A;; a rank-2 tensor symmetric

iniand j and we write in the integral

form:

(At E (¥ t)] = -in¥ o | dSke"E(f-x"J‘

(2m)?

And, therefore, it this commutator is required to be modified to modify the commutator we
write delta ij by capital delta 1j which is which we know postulate as a second rank tensor
symmetric in 1 and j and we also write the delta function in 3-dimensions in terms of the

Fourier representation as shown in the green box here.
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I
* Then, on taking divergence:

'(27)3-[ dgk (E; ki Aij)eik-(x—xr]

* This will vanish if
+ Yk A= 0or

kik; ;s o ki)
* Aij= 51} -=LorAY= -§Y +?

k2

o NFEL ik
W ROORKIE CIICATION COURSE

When we take divergences now the we find that the divergences would vanish when the
condition imposed in the yellow box is satisfied. And, the condition imposed in the yellow box
would be satisfied when the condition imposed in the green box is satisfied that is when capital

delta ij is equal to minus small delta ij plus k 1 k j upon k squared k spatial squared.
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e
REVISED COMMUTATORS

* So the correct commutation relations are:

[AiG 0, (4,0)] = 1) 7 - e

So, the revised commutator now take the form which is given in the slide the upper red box
covers the commutators between A i and E j that is the E j represents the conjugate momenta.

And, A 1irepresents the field variables and the and the others are of course, the commutators

between similar quantities.



(Refer Slide Time: 11:28)

THE EM WAVE EQUATION

Now, we come to the electromagnetic wave equation.
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EEEES—————— 000000
MAXWELL EQS IN LORENTZ GAUGE

Maxwell equations: d, F*” = j

In vacuum, the RHS disappears so that:
*|0=0,F" = a#(aﬂAv - 0"A%)

=0

The Maxwell equations as you recall is given by the expression given in the first expression in
terms of the electromagnetic field tensor. In vacuum, of course, no sources so, the right hand
side vanishes no currents are there so, the right hand side vanishes. And, in the Lorentz gauge
the term in the round brackets and the green box also vanishes. So, what we are left with is a
box of a nu is equal to 0 furthermore in the Coulomb gauge the time component of A also

vanishes phi is equal to 0.
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KLEIN GORDON FIELD

Ei=]

* This is the Klein-Gordon for a massless field.

And therefore, we have the box of the spatial A is equal to 0. This is nothing, but similar

absolutely similar to the Klein Gordon equation for the massless field.
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SOLUTION

* The solution of

n ferms of the fundamental solutions:

e coefticients must be vectors, called polarisation

vectors, which we denote ¢)(k), where 4 is a
label.

The solution of this expression is given in terms of the fundamental solutions. Exponential
wave vector solutions — exponential ikx and exponential minus ikx and these are called and the
coefficients of course, must be vectors called polarisation vectors and we denote them by

epsilon superscript lambda k, where lambda is a label.
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. with‘kz =0,kg = ic’| and k = tk, \

+ ] takes on only two values viz 1,2, since in the
Coulomb gauge, V.A=0 gives:

k2D (k) =0

-

Now, we therefore, we write as in the case of scalar fields we write A x as the expansion in
terms of the creation and annihilation operators in the as in the case of the Klein Gordon

equation for the scalar field as shown in the red box here.

In this case, because m mass is 0 so, k square will be equal to 0, k 0 will be equal to mod of k
and k will be equal to plus minus of k 0 that is a spatial k will be equal to plus minus k 0. And,
lambda can take only two values 1 and 2 since in the Coulomb gauge the divergence of a
spatial A gives 0 and that gives the condition that required in the green box with k can because

k can take only two values therefore, lambda can also take only two values here.
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—

* So for a given direction of propagation i, the

K
€@ (k)are transversd k. £ (k) = (

They may also be chosen to be orthonormal
D (k)EW) (k) = 8y,

That is compatible with the fact that the photons or the massless spin one particles travel with

the speed of light and have only two independent components.
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* We define the functions:

I(zn)::: ]1/2 Z%:l 8(1)(’() [fk (x)a(lj(k) T f;(x)am*(k)]

Now, if we define the to get to the get the expressions for the creation and annihilation
operators we can define functions in terms of the expressions given in the red box here in

which a x can be represented in the expansion given in the green box at the bottom of the
slide.
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+Since f,(x) and f,(x) form an
orthonormal set, we get from:

51 £0(k) [f(0aP k) + fi(x)aV (k)]

1/2

a® (k) = [ d*x|(2m)*2ky] " fi(x) idoe® (k). A(x)
aO (k) = [ d*x[(2m) k] " fix) o (k). ()]

And, because these functions f k x these are there in the red box here are orthogonal
orthonormal so, we can recover straight away the expressions for the creation and annihilation

operators has the expression given in the blue box and the green box at the bottom of the
slide.
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COMMUTATORS

And, the commutators between the creation and annihilation operators are can be easily

worked out as straightforward and I given in the this slide.
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* These commutation relations have the same
form as those for the scalar field, and have the
same interpretation as annihilation and creation
operators for photons.
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* It has the merit that only the physical, i.e.
transverse, degrees of freedom are quantised,
but

* this is achieved by sacrificing Lorentz invariance,
because the Coulomb gauge condition

‘|9 =0, V.4 = 0]is not Lorentz invariant.

To reiterate the Coulomb gauge which is shown in the red box here is not Lorentz covariant

and hence in a sense we lose Lorentz covariant while working in the Coulomb gauge.
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PATH INTEGRAL QUANTIZATION

Now, we come to the most important topic here the path integral quantization.
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GENERATING FUNCTIONAL

* In the case of quantum electrodynamics, the

penerating functional takes the form:

2[9]=[[ DA, Jexpif (£ + "4, Jix; £=-1p pr

uv

The generating functional in the case of quantum electrodynamics that is the electrodynamics
of the electromagnetic field will take the form that is given here where L is the Lagrangian
script; L is the Lagrangian which is given by the expression in the right side of the red box and
J mu are the respective sources, A mu are the field variables and this Lagrangian or this
generating functional has been written in consonants or in line with the expressions with
similar expressions written for the scalar fields. And, the particle and the free particle in the

quantum mechanical case.
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PHOTON PROPAGATOR
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* We know that variation of the Lagrangian in the
electromagnetic field tensor:

‘ 1 \
. £= —EF#vav

* gives us the Maxwell field eqs:

*[0,F™ = 9,("A" - 9" A") = 0

Now, the variation of the Lagrangian in the electromagnetic field tensor is the Lagrangian is
this and if you do the variation of this Lagrangian, we can recover the Maxwell field equations
which are given here. And, these Maxwell field equations, can also be represented as we have
discussed again and again in terms of the electromagnetic field tensor, in this form ;in the form

given in the green box here at the bottom of the slide.
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0,F" =0,(0'4 -0’ 4')=0

Multiplying by g ,,, we get the Mivowell eqs as:
0=g,00'4-g 004 =g od-004,

w_H

=g, 04 -0,0 A =(g,0-0,0,)4

Now, starting from this expression that we brought over from the previous slide if we multiply
by g mu nu the metric the flat metric in this case we get please note throughout we are
representing the flat metric by g mu nu although in many references and they use eta mu nu.
So, but here we are using g mu nu as the flat metric and we are using the convention of plus

minus minus and minus.

Now, multiplying by g mu nu we get the Maxwell equations as the expression that is given in
the blue box and which can be written in the form which is given in the green box here. Simply
some algebraic simplifications multiplying by g mu nu throughout and doing some algebraic
simplifications gives us the expression that is given in the green box here at the bottom of this

slide; some manipulations of indices, nothing more here.
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Fiom the EOM g 50,0, ) 4' =0

we can recover the Lagrangian
1

v

in the form:

6,4

Now, from this set of Maxwell equations which I got from the previous slide, we can recover

the Lagrangian in the form which is given in the green box at the bottom of the slide.
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The photon propagator D , is the
Green functionof the Maxwell eq :

Kgﬂ,,ﬂ—aﬂa,,)/i” = Olw that

l(gmu—apav)p"*(x— y) = §j54(x: y).

Now, now let us look at the photon propagator; what is the behavior of the photon
propagator, what happens to the photon propagator corresponding to the Maxwell equation

that is given by the expression here in this green box here.

Now, corresponding to the corresponding to the Maxwell equation that we had in the previous
slide that is this one in the green box here the photon propagator should be the green function
of the Maxwell equation. And, therefore, we must have the expression here in the green box
must be satisfied because this is the Maxwell equation in the red box and my photon
propagator D mu nu must be the green function of this particular equation. And, that leads us

to the expression that is given in the green box at the bottom of the slide.
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F14¢(g,0-0,0,)D" (x-y)=58,6"(x-)

whence multiplying both sides by 0"
6“(gﬂyu—6yal,)l)"l(xuy) =9"5:8"(x-y)|or
=(0,0-00,) D" (x-y)=0"6"(x-y) or
O.D”’i(x—y) = 6”“54(x—y)

or D" (x- y) is singular

Now, let us explore what happens here. If we multiply both sides by D of nu and mu or we
differentiate force as by this way, take the four derivative of both sides. What we get is that
again with some manipulations of indices very some careful manipulation of indices, you find
that our propagator turns out to be singular because the left hand side coefficient vanishes.
The coefficient of the propagator vanishes and although the right hand side does not vanish

and that means, that the propagator is singular.
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I 0909000
* From above, we see that D'* has no inverse, and is
therefore formally singular.

* This is because the operator (gm 0-0 ﬂa ) )
no inverse.

* If appli H .

* So the operator has zero eigenvalue and therefore no
inverse.

has

* Our attempt to find the propagator has failed.

And, this is why does this happen because this operator and that is given in the red box here
has no inverse. And, this because this operator has no inverse we have to adopt a certain
detour to arrive at the expression for the propagator. We multiply by del mu eta. On
multiplying by del mu eta we get 0 which shows which in fact, shows further that the operator

has zero eigenvalue and therefore, has no inverse.

So, it is clearly it is explicitly shown by the expression in the green box that this operator here
in the red box has zero eigenvalue and hence does not have any and does not have any inverse.

So, what do we do?
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PATH INTEGRAL QUANTIZATION

Now, why is this happening first and then what do we do?
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I 0000
DIVERGENCE OF EM FIELD GENERATING

FUNCTIONAL
* We consider the generating functional:

Z(0) = [[DA,]exp i [ Ldx

We have the expression for Z 0 that s the normalizer as the expression given in the red box.
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o L is invariant under gauge
transformations |4, - A, +d,A, but
the integration is taken over all 4,

* including those that are related only
by a gauge transformation.

Now, the important thing is that as we mentioned earlier the entire theory is invariant under
gauge transformations of the form that is given in the green box. Now, but when we are
working out this integration this integration is taken over all of A mu including those including

those which are related to each other by this gauge transformation given in the green box.
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+ This gives an infinite contribution to
Z, and

* therefore to the Green's functions,
obtained by functional differentiation
of Z.

In other words, there is some sense of over counting going on and as a result of which the
contribution to Z is infinite because particular potential would be counted again and again
because of the gauge freedom that is allowed between or in defining a potential A. And,
therefore, the in the this particular problem will give an infinite contribution to Z and as a
result the green functions that could be obtained from this particular path integral or the

generating functional will also be infinite.



(Refer Slide Time: 21:52)

EEEEE——
GAUGE FIXING: LORENTZ GAUGE

* Thus, in order to get a finite value for Z(0), we
need to fix a particular gauge,

* 50 that the integral over A" does not extend
over values simply related by a gauge
transformation.

o be definite, we impose the Lorentz gauge
condition d,A* = 0.

So, we need to do gauge fixing here as we did in the in earlier case we need to do a gauge
fixing before we do the path integral quantization. As we discussed in the gauge fixing that is
normally done as the Lorentz gauge and followed by the Coulomb gauge. So, what we do is

we impose the Lorentz condition given in the red box here.
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LAGRANGIAN IN LORENTZ GAUGE

* In the Lorentz gaugelau/l” =0

* Lagrangian £ = L

becomes

0

And, now when we impose this Lorentz gauge when we imposes this Lorentz can condition
given in the red box here the Lagrangian becomes the second term in the Lagrangian if you
look at it the second term in the Lagrangian vanishes and we can write the Lagrangian in the

form which is given in the expression in the green box here.
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* The operator g,,,0"0, has an inverse,
viz. the Feynman propagator:

Now, the operator in contrast to the earlier situation if you look at this operator g mu nu d mu
d mu or g mu mu box has an inverse and it and the universe is given by the Feynman

propagator. You can see that in the red box here at the in the slide.
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* Since in the Lorentz gauge d,A" =0 we can
write the Lagrangian as

1 1
[£= = FuF" =3 (9,4%)

* where| L5 = —é(auA“)z is the gauge fixing

term.

So, by imposing the Lorentz gauge we can write the Lagrangian this form and we now have a
nonsingular propagator. And, furthermore because this expression in the round brackets is
equal to 0 in the Lorentz gauge, the Lagrangian can be modified and it can be written in the
form that is given in the red box here where the first term is L 0 L script 0 which is the

Lagrangian of the free field.

And, the second L script GF the subscript GF represents gauge fixing in other words G L

script GF represent the gauge fixing term in the Lagrangian.
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SITUATION IN MOMENTUM SPACE

* In mom operatorm
g‘wk2 k, k

become

* This has no inverse.

* |f it did. it would have to be of the form Aa"* + Bk'k*
with (-, k? - k,k,)(Ag** + BK'k*) = 6%

» This implies | (~AK?87, + Ak,k*) = & | which has no
solution.

In momentum space also we have a similar catastrophic, similar problem in the momentum
space this becomes the expression that is in the red box here. And, again this expression is no
inverse in the momentum space and that is established in the in this slide by because if there
were to be exist an inverse it would be of the form a capital A into A v mu nu plus B k nu k

lambda.

And, on to taking the products of this inverse and the original operator the we should have
delta on the right hand side but, this equation has no solution. So, the net outcome of this is

that the expression that the expression that is there in the red box does not have a inverse.
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ADDING LORENTZ GAUGE

* In the Lorentz gauge, however, the operator

. 1
— g,k?has an inverse|—g*2 (F)

* The Feynman propagator, being the Green

function is: DF(k)w, = —gpvkl—z

In the Lorentz gauge the operator minus g mu nu k square that is the first term if you can
eliminate the second term by the by introducing the Lorentz gauge the first term as the in the
inverse given in the blue box. And the Feynman propagator being the green function is given is

represented by the expression that is given in the green box here.

Of course, we can generalize what we have done earlier we may add to the Lagrangian an
arbitrary amount of the gauge fixing Lagrangian instead of having L gauge fixing we can have
a coefficient a scalar coefficient attached to it and we can write the Lagrangian in the form in a

generalized form which is given in the red box here.
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GENERALIZATION

* More generally, we may add to the Lagrangian
an arbitrary amount of £;; e.g.

1 1 2
: In_z == FpF*" - (3,4") \or

(| £=2 4,09, + (-~ 1) 8,0,| 4] with

And, which gives us the expression given in the which is equivalent to the expression given in

the green box here where alpha is a finite expression.
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* The operator in momentum space is: —kzgm, +

(l—i) k.k,| whose inverse gives the
propagator:

D(k)yy = =5 | Gy + (@~ 1)

» Particular nomenclature:
* 0—1: Feynman propagator
* 0—0: Landau propagator

The corresponding expression in the operator in momentum space is the expression that is
given in the red and green box here red and blue box here and the inverse is given by the

expression given in the green box here.
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== . S
PROPAGATORS FOR TRANSVERSE PHOTONS

* The propagator‘DF(k)m = —gm—z\applies to

photons in the Lorentz gauge. This is a covariant
gauge in which photons have a polarisation
vector £/, with k,&" = 0, so that only three of
the four states are independent.

Now, we come to the transverse photons. Now, this propagate we have not; we have not

introduced the Coulomb gauge yet, now let us talk about the Coulomb gauge.

The propagator given by this expression which was which is obtained after putting in the or
after introducing the Lorentz gauge this is a now the Lorentz gauge is a covariant gauge
where the polarization vector, epsilon mu has the scalar this scalar product between the wave
vector and the polarization vector equals 0. And therefore, only three states out of the four are

independent.
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* Physical photons, however, are
described by only two polarisation
states - those. with transverse
polarisation.

* Now, we calculate the propagator for
transverse (physical) photons.

But, as we know that there are only two independent states of the photons and therefore, we

are still a little bit away from getting a physically viable expression for the propagated

representative of physical photons.
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COULOMB GAUGE

* For this purpose, we work in the Coulomb gauge
in which,|V. 4 = Oland ¢ = 0.

* The relation between the propagator and the 2-
point function is: |<0|T (A#(x)Av(y)) ‘0) =

%Duv(x_y)

For this we introduced the coulomb gauge. As we discussed earlier the coulomb gauge
represents the is represented by the time component of the 4-vector potential being zero and
the divergence of the spatial component of the 4-vector being zero. And, the relation between
the propagator and the now the relation between the propagator and the 2-point function is

given by this expression.

This is the 2-point and time ordered product of the field variables you remember in the
electromagnetic field the as are taken at the field variables. So, there is the expression in the
blue box is the time ordered product of the field variables and on the right hand side we have

the expression for the propagator.
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Fhk & d )(k)e'”“ ¢

o, 4,(5)= | — Y0

T sl (k)

Now, you would recall that we had obtained the expression for A mu of x earlier in this
lecture in the form that is given in the red box here and it is in terms of the wave free waves or

e to the power ikx and e to the power minus ikx with the polarization vectors.
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+ [a(”(k e "+ a4 (k ')e"""]x

[a(”(k)e"'“ y g (k)e“""]ﬂ(yu - x“)

So, what do we have? We have on the one hand when we introduce these expressions in the
expression for the time ordered product when we introduce the expressions for A mu x and A
nu y when we introduce these expressions in the form which is given in the slide in the red box
here in the slide and we take note of the time ordering represented by the theta functions the

(Refer Time: 29:14) functions what we get is the expression in the green box here.
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(| K o504

(272')6 Zk“ 2% '0 A0l
o’ (k)™ (k)" 0%, - )
1) () (8)e gy, -x)

So, this is simplified and what we get is the expression in the in this whole slide. This entire
slide is the simplification of what we had in the previous slide in the green box here at the

slide.
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I
* The two terms in aa™ may be replaced by their
commutators. The delta functions then enable
one to integrate over k' and sum over A’ giving:

Now, the terms in aa dagger, aa dagger can be replaced by their commutators and then delta
functions can be introduced. And, delta functions after introductions they can be integrated

over and once they are integrated over and then there are summed over lambda.

So, there are a number of steps involved here the terms involving a is a dagger you replace
them by the commutators, and replacing them by the commutators will involve introduction of
delta functions; integrate over these delta functions and then sum over lambda and the

expression that we get is the expression that is here in the slide.
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L —
Now, the Feynman propagator for massless

particles :A (x,m = 0)

. d3k —ikx ikx
=—1 W[ﬂ(xu)e +9(—x0)€ j|
0

The Feynman now the Feynman propagator for the mass less particles has the expression
which is given here for y equal to 0 and a given x it is given by the expression in the green box
right at the bottom of the slide. So, we now have two expressions connecting the time ordered

product and Feynman propagator.
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Hence (or(Aﬂ(x)Av(y))o)-J ":" zl:gfjl(k).;@(k)

21) 2k,

X [ej"(.i»-,\.)ﬂ (xo - yn) t+e ik[r_y)e(y 0% )] and

]

dsk 0(x"_y")e-*'k(.r—y) d*k e-;‘k{;-;)
(27[)321‘" "'Q(J’u‘xn)eﬂt('r an ) (2:[)'l k' -ic

0T (4, ()4, y))(]):—i[ LI R0

so that

—

(27[)‘ -k -ig =1

Both of them are here on the slide. On the one hand the time ordered product has been

represented in the form given in the first equation. In the second hand the right hand side of

the time order product has is related to the expression given in the yellow box here through

the through the Feynman propagators expression.
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Ak o) 2

— .0, (ke

—"

.

(4 (44 ()0 =-

) -k -ieds

Comparing withl(0| T(Aﬂ (x)4,( y))|0) = } D, (x-)

we get the propagator for transverse photons as :

'k "2
D (x=v)= { @D (k
o) |

So, combining the two and simplifying and using the explicit expression for the Feynman
propagator we will get the expression that is given in the green box at the bottom of the slide

for the for the propagator for transverse photons.

So, with that we conclude this segment relating to the path integral formalism of quantum
mechanics and quantum field theory. From here on, we will be taking up the final segment of

this course that will relate to the financial applications of the path integral formalism.

Thank you.



